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In the two sets given below, Set-1 provides the different levels of learning according to

Bloom's Taxonomy, while set-II gives their examples and concerns. Match the two sets and
select from the options to indicate your answer :

Set-1
(Levels of Learning)

(a) Memory level
(b) Understanding level
©) Analysing level
(d) Creating level
Options :

@ (O (c)
(1) a) @ (iii)
(2) (1) (i1) (111)
(3) av) () @
(4) @y Q) @)
Options:

64535070299, 1
64535070300, 2
E4E35070201. 3
EAE350702302. 4

@)
(11)
(111)
(v)

(d)

(iv)
@av)
(i)
(i)

Set-I1
(Examples)

Identifying examples of a given concept
Generating new ideas
Recalling information

Isolating information into parts

Question Number : 1 Question Id : 64635017901 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535070299,

1
E4E35070200. 2
E4E35070201. 2
BAE35070202. 4

Question Number : 2 Question Id : 64635017902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Diagnostic Evaluation ascertains

(1) Students performance at the beginning of instructions
(2) (Causes and remedies of persistent learning problems during instructions
(3) Degree of achievement of instructional objectives at the end

(4) Learning progress and failure after instructions

Options:

4825070203, 1
4535070204, 2
4535070205, 5
45350702306, 4

Question Number : 2 Question Id : 64635017902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Options:

64535070203, 1
64535070204, 2
64835070205 2
E4E35070206. 4

Question Number : 3 Question Id : 64635017903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Among the following which one1s an example of instructional software?

(1) Audio podcast

(2) Printed material or book
(3) Radio talk

(4) Edusat

Options:

64535070207, 1
64535070208, 2
64535070209, 2
48350702104

Question Number : 3 Question Id : 64635017903 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535070207, 1
E4EZ5070308. 2
E4BZ50702089. 3



EAE35070210. 4

Question Number : 4 Question Id : 64635017904 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which teaching aids enhance the skills like reading, listening and pronunciation?

(1) Audio-lingual teaching aids (2) Scientific teaching aids
(3) (General knowledge teaching aids (4) Theoretical based teaching aids
Options:

E4E35070211. 1
EAE35070212. 2
64535070213, 3
64535070314, 4

Question Number : 4 Question Id : 64635017904 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350702111
64535070312, 2
E4E35070213. 3
EAE35070214. 4

Question Number : 5 Question Id : 64635017905 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the list given below identify the instructional events which form part of the structure
of a lesson plan. Select your answer from the options given below the list

List of instructional events :

(1) Gainming attention of students

(11) Prior knowledge of students

(i11) Informing the learner of the objectives

(1v)  Stimulating recall of pre-requisite learning

(v) Checking the availability of reading material in the library.
(vi)  Eliciting the desired response

Options :

(1 @ ay )  av)
(2) @) @y vy )
(3) @ @@ W (vi)
4) @) ) @) @)
Options:

64535070215,
645350703216,
4835070217,
4535070218,

[ N

Question Number : 5 Question Id : 64635017905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635070215, 1
4835070216, 2
4535070217, 5
64535070218, 4

Question Number : 6 Question Id : 64635017906 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Think-aloud procedure is

(1) a part of secondary source of data
(2) a technique used to investigate learner strategies and performance
(3) a strategy of testing learners’ aptitude by providing primary sources

(4) a necessary method in scientific research

Options:

64535070219, 1
64535070320 2
E4E35070221. 2
E4E35070222. 4

Question Number : 6 Question Id : 64635017906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535070219, 1
E4E35070220. 2
4535070221, 2
4535070322, 4

Question Number : 7 Question Id : 64635017907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Participant observation is a part of

(1) Philosophical research
(2) Mentalist Theory of language
(3) Mathematical research
(4) Ethnographic research

Options:

646350702323, 1
64535070324, 2
64535070325, 2
E4E35070326. 4

Question Number : 7 Question Id : 64635017907 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

yfawnft Yeor Feifera 3 & feasr @ 27
(1) e mg

(2) | EHEE e

(3) T g

(@)  JARE e



Options:

64535070323, 1
4835070324, 2
4535070225 2
64535070326, 4

Question Number : 8 Question Id : 64635017908 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Plagiarism in research is

(1) Creative use of previous data

(2) Copying unscrupulously and malking use of 1t

(3) Quoting someone and citing him/her

(4) Referring to previous data and working over it with new objectives

Options:

64535070327, 1
4835070328, 2
4535070229 2
64535070220, 4

Question Number : 8 Question Id : 64635017908 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070327, 1
64535070328, 2
64535070329, 2
4835070220 4

Question Number : 9 Question Id : 64635017909 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A university teacher plans to study the effect of level of aspiration of students in terms of
their socio-economic background on their scholastic performance at the term end evaluation
conducted by an external testing agency. What 1s the dependent variable in this study?

(1) Level of agpiration of students (2) Socio-economic backeround of students
(3) Scholastic performance of students (4) Term end evaluation
Options:



E4E350702321. 1
6435070332, 2
645350702333, 3
64535070334, 4

Question Number : 9 Question Id : 64635017909 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535070331, 1
E4E35070332. 2
EAE350702333. 3
EAE35070224. 4

Question Number : 10 Question Id : 64635017910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Critical language testing 1n a research report 1s

(1) Testing language from an ethical point of view, revealing 1ts misuses
(2) Evaluating the stylistic characteristics of language

(3) Critiquing the ideology of the author

(4) Observing the gender role played by language

Options:

64635070235, 1
64535070336, 2
64535070337, 2
48350702328 4

Question Number : 10 Question Id : 64635017910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E350702335. 1
64350702336, 2
64535070337, 3
64535070338, 4

Sub-Section Number: 2
Sub-Section 1d: 646350871
Question Shuffling Allowed : Yes

Question Id : 64635017911 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

Unquestionably a literary life 18 for the most part an unhappy life, because if you have
genius, you must suffer the penalty of genius; and if you have only talent, there are so many
cares and worries incidental to the circumstances of men of letters, as to make life
exceedingly miserable. Besides the pangs of composition, and the continuous disappointment
which a true artist feels at his inability to reveal himself there is the ever-recurring
difficulty of gaining the public ear. Young writers are buoyved up by the hope and the belief
that they have only to throw that poem at the world's feet to get back in return the laurel-
crown; that they have only to push as a new light 1in hiterature. You can never convince a
voung author that the editors of magazines and the publishers of books are a practical body
of men, who are by no means frantically anxious about placing the best literature before the
pubiec. Nay, that for the most part they are mere brokers, who conduct their business on the
hardest lines of a profit and loss account. But supposing your book fairly launches, its perils
are only beginning. You have to run the gauntlet of the critics. When you are a little older,
vou will find that criticism i1s not much more serious than the bye-play of clowns in a circus,
when they beat around the ring, the victim with bladders stung at the end of long poles. A
time comes in the life of every author when he regards critics as comical rather than
formidable, and goes his way unheeding. But there are sensitive souls that yield under the
chastisement and, perhaps after suffering much silent torture, abandon the profession of the
pen forever.

Sub questions

Question Number : 11 Question Id : 64635017912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Literary life 1s unhappy because

(1) One has to carry the load of being a gemus while not being one
(2) The geniug can still remain a genius and be amidst misery in the face of adversity
(3) Talent brings pseudo happiness

(4) There 1= a constant desire to outshine others

Options:



EAE350702339. 1
64535070240, 2
64535070241, 3
64535070342, 4

Question Number : 12 Question Id : 64635017913 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Young authors aspire to

(1) Equate themselves to the established authors
(2) Remain content in their work only
(3) Achieve glory by their merit yet always in a hurry

(4) Become critics subsequently
Options:
64635070343, 1
64635070344, 2
£4835070345. 3
64635070346, 4

Question Number : 13 Question Id : 64635017914 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The perception towards the publishers and critics in the above passage 1s

(1) That of a scathing attack
(2) That of sympathy
(3) That of generosity

(4) That of cynicism

Options:

4535070247, 1
64535070248, 2
64535070249, =
64535070350, 4

Question Number : 14 Question Id : 64635017915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Experience and age of an author

(1) Makes the author stoic to criticism
(2) Makes the author angry and lovely
(3) Turns the author to a buffoon

(4) Drives the author to cynicism

Options:

64635070351, 1
64535070352, 2
64535070353 2
E4E350703254. 4

Question Number : 15 Question Id : 64635017916 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The effective way of tackling criticism 1s

(1) To defend onesel f through print media
(2) To be vocal about one's craft
(3) To become a critic of one's own art and start analysing i1ts merit

(4) To be gracefully glued to the artistic exercise

Options:

645350703551
64535070356, 2
64535070357, 5
64535070358, 4

Question Id : 64635017911 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension
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Sub questions

Question Number : 11 Question Id : 64635017912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635070339, 1
4535070240 2
E4535070241. 5
64535070242, 4

Question Number : 12 Question Id : 64635017913 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

48350703243, 1
64535070244, 2
64535070245, 5
64535070346, 4

Question Number : 13 Question Id : 64635017914 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535070347, 1
E4E3507023458. 2
E4E35070245. 3
B45350702350. 4

Question Number : 14 Question Id : 64635017915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535070351, 1

E4E35070352. 2
EAE35070353. 3
EAE350702354. 4

Question Number : 15 Question Id : 64635017916 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535070355 1

E4E3507 0356, 2
EAE35070357. 3
E4E350702358. 4

Sub-Section Number: 3
Sub-Section Id: 646350872
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635017917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following are barriers to effective communication?
(a) Physical noise (b) Semantic noise
(c) Psychological noise (d) Non-semantic noise

Choosge the correct answer from the options given below

(1)  (a), (b) and (d)
@  (a), (b) and (¢)
3  (a), © and (d)
(4) (a) and (d) only

Options:

64535070359, 1
E4E350703260. 2
4535070261, 2
4535070362, 4

Question Number : 16 Question Id : 64635017917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635070359, 1
64535070360 2
64535070361, 2
E4E35070362. 4

Question Number : 17 Question Id : 64635017918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Non-<content behaviours such as rate of speaking, loudness, tendency to interrupt and

pronunciation peculiarities’ are referred to as behaviour.
(1) Extra-personal (2) Animated

(3) Extra-linguistic (4) Involuntary
Options:

E4E35070363. 1
64535070264, 2
64535070365, 3
64535070366, 4

Question Number : 17 Question Id : 64635017918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAE35070363. 1
64535070264, 2
64535070365, 3
64535070366, 4

Question Number : 18 Question Id : 64635017919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, delayed feedback can happen due to

(1) Use of technology (2) Ezxpanded communication
(3) Semantic noise (4) Partiapatory environment
Options:

E4E35070367Y. 1
EAE3507 0368, 2
E4E350702369. 3
BAE350702370. 4

Question Number : 18 Question Id : 64635017919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE350702367. 1
645350702368, 2
64535070369, 3
E4535070370. 4

Question Number : 19 Question Id : 64635017920 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In analog communication, contents are considered to be

(1) Convergent (2) Static
(3) Physical (4) Ethereal
Options:

E4E35070371.1
BAE3S070372. 2
BAE35070373. 3
BAE350702374. 4

Question Number : 19 Question Id : 64635017920 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E35070271.1
BAE35070372. 2
64535070373, 3
64535070374, 4

Question Number : 20 Question Id : 64635017921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following :

Set-l Set-11
(Communication elements) (Description of process part)
(a) BSender (1) Brain
(b) Receiver (11) Electro-magnetic impulses
) Message (1m)  The central nervous system
(d) Medium 1v) Sensory organs

Choose the correct answer from the options given below

@ (b (©) (d)

(1) @ (i) (i1) av)
(2) ) @ av) ()
(3) av) @ (11) (i11)
(4) @ Gv @ Q)
Options:
64535070375,
E4E3507027E,

EABE3S070377.
EAE3507 0378,

o LIRS

Question Number : 20 Question Id : 64635017921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



¢ gHfeTa i

gz - 1 gz - 11
(T3YT F aed) (seRH- 9T 1 faaa)
() HIUTH @) afEass
(b) =AIEH (i) AeraesFg e
(c) ®@ew (i) PR S T
(dy W (v) HaE
A=t e g frew # & adt 3w 9w

1 @-@, b -0), -0, d-av
@  (@-@), b)) -0, ©-av), d - @)
@) @-av), (b -Q), ) - @), (d) - (u)
@  (@-), ®)-av), ©-an), d -0

Options:

64535070375, 1

64535070376, 2

E4E35070377. 3
EAE3507037E. 4

Question Number : 21 Question Id : 64635017922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the missing term out of the given alternatives

TEF, UGH, , WKL
(1) CMN
2 UJ
3  VIJ
4  IJT
Options:

BAE35070375. 1
64535070380, 2



EAE350702381. 3
BAE35070382. 4

Question Number : 21 Question Id : 64635017922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e fou o fasen & faa wum 6 qfd Fifomg
TEF, UGH, , WKL
(1) CMN
@  UJI
3 VIJ
@ LJT
Options:

EAE35070373. 1
E4E35070280. 2
64350702381, 3
64535070382, 4

Question Number : 22 Question Id : 64635017923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sum of deviation taken from which of the descriptive statistical measure 1s always equal

to zero?

(1) Mean
(2) Median
(3) Mode

(4) Percentile
Options:
E4de350703832. 1
4235070354, 2
64635070385, 2
64635070386, 4

Question Number : 22 Question Id : 64635017923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fefafiaa § o fora auiTers aifisrdl om 8 fae o feem #1090 923 3 g 2

(1)  weHH

(2)  HEATFHAN
(3)  SEEEA
(4)  wIdE =H

Options:
4535070353 1

EAEZ507 0384, 2
E4E3507 0285, 3
BAE3507 02386, 4

Question Number : 23 Question Id : 64635017924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If x and ¥ are two positive numbers and x 1s 25% greater than », what 1s the value of the

ratio>?

X

(1) 0.75 (2) 0.80
(3) 1.20 @ 125

Options:

64535070387,
4835070388,
E4E35070289.
4535070290,

o IR

Question Number : 23 Question Id : 64635017924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A x o y T T T § N xy T 25% At 2@ 2w oHE B
x

L 075 (2) 0.80
@ 120 @ 195
Options:

E4E35070387. 1
645350702388, 2
64535070389, 3
64535070330, 4



Question Number : 24 Question Id : 64635017925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

5% of the inhabitants of a village having died of malaria, a panice set in. During this, 20% of
the remaiming inhabitants left the village. The population is then reduced to 4750. Find the
number of original inhabitants

(1) 5000 2 5250
(3) 6250 (4) 7500
Options:

645350703391, 1
EAE35070392. 2
E4E350702393. 3
B4E35070254. 4

Question Number : 24 Question Id : 64635017925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

foredt i % 5% FanfiEi & AeifEr § 9 @9 % d1e QU W HAGAE g T 39h qRA 9 AETiEn 3 9
20% < M SEH FT Ol M e afmrasy ma fi AR gew 4750 @ T T F g
AftaniET f @ 2

(1) 5000 (2) 5250
(3) 6250 4 7500
Options:

645350703391, 1
64535070332, 2
E4E350703393. 3
EAE35070294. 4

Question Number : 25 Question Id : 64635017926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If the simple interest on a certain sum for 1 year 3 months at 8}2—% per annum exceeds the

simple interest on the same sum for 8 months at 7% % per annum by Rs. 45, then the sum is

(1) Rs. 600 (2) Rs. 800
(3) Rs. 6,000 (4) HKs. 8000
Options:

E4E35070395. 1
EAE3507 0396, 2
BAE35070357. 3
645350703398, 4

Question Number : 25 Question Id : 64635017926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gfe foreft g=rafsn @1 aramor sars 84%% dfdad fi 22 4 1 ad 3 AE H 3041 & gaul w 8 HER H 7%
yfqad 6t sl 2 & 45% & Al g sar &, a1 g8 s 2

(1) 600 %. (2) 800=.
(3) 6000, 4) 8000 .
Options:

645350703395, 1
E4E350703396. 2
EAE350702397. 3
E4E3507023398. 4

Question Number : 26 Question Id : 64635017927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If proposition ‘All pens are not pencils’ i1s taken to be True then which of the following
propositions can be False?

(1) All pens are pencils (2) Some pencils are pens
(3) No pen 1s pencil (4) Some pens are pencils
Options:

64535070399, 1
64535070400, 2
E4E35070401. 3
EAE3507 0402, 4

Question Number : 26 Question Id : 64635017927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe aF aEg ol W e A8 2 F oo " formn Su at FAefafiaa 4 9 0 96 9 9 8@
Fﬁ'ﬁ’l%:

(1) ot o U 44 2 2 @ tFaa = )
@ R ol T AR A 2 @) % U i #
Options:

E4E350702399. 1
64535070400, 2
64535070401, 3
E453507040Z. 4

Question Number : 27 Question Id : 64635017928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two premises with four conclusions drawn from them. Which of the
following conclusions could be validly drawn from the premises?

Premises :
(1) All fans are tubes
(i1) Bulbs are not tubes

Conclusions :

(a) Fans are not bulbs
(b) All tubes are fans
(c) Fans are bulbs

(d) No tube 1s bulb

Select the correct answer from the options given below :

D (@, b)© (2) (a)and (d)
(3) () only 4 (D), () and (d)
Options:

64535070403, 1
64535070404, 2
E4E3507 0405, 3
EAE3507 0406, 4

Question Number : 27 Question Id : 64635017928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A & e aey feu o #, ToAm =m feed gra fRe g e snan al & Fefofaa 8 S8 g
Ferd &9 w9 O wiH fou S Had 27

A A ;o () ot T oo F )
(i) sl gl A4 2|

Elea] 1 (a) UM ded A 21
by =ft == 9g 2
© U ¥od 21
(d) = i ZE e A 2
A o e Frwet § & wd s afe
(1) (@, b)), © 2 (a) ()
@) ¥ (a) @ ), ) R’ (d
Options:

64535070403, 1
64535070404, 2
64535070405, 3
EAE3507 0406, 4



Question Number : 28 Question Id : 64635017929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
When subject and predicate of both the premises 1s same but they differ only in quantity, it

18 known as

(1) Subaltern

(2) Contraries

(3) Subcontraries
(4) Contradictories

Options:

64535070407, 1
64535070408, 2
64535070409, 2
4835070410 4

Question Number : 28 Question Id : 64635017929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Sl GHI ATaR Al < 32T AT faum gae 2, foeq 3t aen B 2 91 g9l TR &9 d ST St 2

(1) T

2  foufia g

@  3u-foula wg

(4)  femarar
Options:

64535070407, 1
64535070408, 2
E4E35070403. 3
BAE35070410. 4

Question Number : 29 Question Id : 64635017930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Identify the reasoning in the following argument :

Writing on paper 1s similar to writing on the board’.

(1) Deductive
(2) Hypothetical
(3) Analogical

(4) Inductive
Options:
4525070411, 1
C4C35070412 2
646235070413 2
64635070414 4

Question Number : 29 Question Id : 64635017930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Feffiad 9% # 9 $i vgam e e 7 g N2 waEd & wgu g |

(1) P
(2) g A
(3) G AT

(4) HATTHATHS
Options:
64535070411, 1
64635070412, 2
4235070413 2
64635070414 4

Question Number : 30 Question Id : 64635017931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The proposition ‘All leaves are green’ is equivalent to which of the following propositions?

(a) No leaves are green
(b) No leaves are non-green
(c) No leaves are in other color than green

(d) No green is leaf

Select the correct answer from the options given below :

(1) (b), (c) and (d)
(2 (a) and (b)
(3) (b) only

@  (b)and ()
Options:
4835070415, 1
64535070416, 2
64535070417, 5
64535070415, 4

Question Number : 30 Question Id : 64635017931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



a% ared | oadl afvn gftd 27 Refafia # 3 R ok e % oedged 2

(@ g il el 2l A 2

b)  FE o =i gfarfza A8 2

© @iz Wl uxht g % sy s a2
@ g ot g, ot A 2

5y o o, faerent 6 & T e A

O O, e W@
@ @O
@ ¥« (a)

@ (b R (o)

Options:
64535070415 1

EAE3507041E. 2
EAE35070417. 3
BAE350704158. 4

Sub-Section Number: 4
Sub-Section Id: 646350873
Question Shuffling Allowed : Yes

Question Id : 64635017932 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension



Consider the following table that shows the total number of tickets sold of five movies P, Q,

R, S and T, across two cinema houses A and B on a particular day. In accordance with the
table, answer the questions that follow (Question 31-35) :

Sale of Movie Tickets Cinema house wise
Cinema
Movies
A B
P 200 2300
Q 350 400
R 250 1510,
S 200 350
T 400 250

Sub questions

Question Number : 31 Question Id : 64635017933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The number of tickets sold of movie T' at Cinema house A 1s what percent of the number of
tickets of movie P sold at Cinema A?

(1) 220% (2) 200%
(3) 210% 4) 190%
Options:

E4E350704139. 1
BAE35070420. 2
64535070421, 3
4535070422, 4

Question Number : 32 Question Id : 64635017934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the total number of tickets sold of movies @ and R together at both the Cinemas A

and B together?

(1) 1050
(2) 1200
(3) 1250
(4) 1350
Options:

EAE35070423. 1
BAE3507 0424, 2



EAE3507 0425, 3
BAE3507 0426, 4

Question Number : 33 Question Id : 64635017935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the ratio of the number of tickets sold of movie P at Cinema B to the number of

tickets sold of movie @ at Cinema B?

(0 2:8
2) 314
B 1:2
(4) d:5
Options:
64535070427, 1
4835070428, 2
4535070429 2
64535070420, 4

Question Number : 34 Question Id : 64635017936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the difference between the total number of tickets sold of all movies together at
Cinema A and the total number of tickets sold of all movies together at Cinema B?

(1) 180 (2) 170
(3) 150 (4) 160
Options:

64535070431, 1
64535070432, 2
64535070432, 3
EAEZ5070424. 4

Question Number : 35 Question Id : 64635017937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the average number of tickets sold at Cinema B for movies T and S together?

(1) 360 (2) 820
3 300 4) 840
Options:

E4E35070435. 1
EAE3507 0436, 2
BAE35070437. 3
645350704358, 4



Question Id : 64635017932 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehension

Fffiga arferer ot fa=m $ifse, S v f@em 7 w e - o i e - & d o= feedi-i ey,
An, v o1 & F BEwd fi o gen fi W auid 21 g9 aifde % aar wog@ e gl (vee g
31-35) % 3 difor:

formram feew-femal i sl
e ferraTeR
T Eil
ot 200 300
| 350 400
aw | 250 350
o 300 350
Gl 400 250

Sub questions

Question Number : 31 Question Id : 64635017933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frarEr-v @ fhen-& 6 owl f1 15 fewd 6 gem = yfdea FAaEr-v @ Gea-dt < &= o0
femral =i wwean 6t qoFT § foar an?

(1) 220 yidwd (2) 200 yfdvE
(3) 210 yiqwd 4) 190 yfes@
Options:

645350704191
64535070420, 2
EAEZ5070421. 3
EAEZ507 0422, 4

Question Number : 32 Question Id : 64635017934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



aHl Frmmedi-u, S sfl %1 e & Fon-a9 i fhon-aar i fishl 1 78 fewel 1 e @ e 27

(1) 1050

(2) 1200

(3) 1250

(4) 1350
Options:

64535070423, 1
4535070424, 2
EAEZ507 0425, 3
BAEZ507 0426, 4

Question Number : 33 Question Id : 64635017935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ot W feen-dt 6t fasht $t 78 el 6t g = wuE fRmmEe- v fFen-ay e Geft &
fesrdl 6 qaT | ferar 2:

R 2:3
@ 3:4
@ 1:2
@ 3:5
Options:

EAE35070427. 1
EAE35070428. 2
64535070425, 3
64535070430, 4

Question Number : 34 Question Id : 64635017936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

forre-v v g fyen w ot el i feht 6 13 el it wa den it Rearer-d o ga faen &
ot fecHi it fosht it 73 fewdl i v gen F e v feen 27

(1) 180 (@ 170
(3) 150 (4) 160
Options:

E4E35070421. 1
BAE35070432. 2
64535070433, 3



EAE35070434. 4

Question Number : 35 Question Id : 64635017937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

forwre-sft ot fon-4t eiiv um $i e Ware skt $ 0 2w $1 sfoa gen feadf 22

1) 360 (2) 320
(3) 300 (4) 340
Options:

64535070435, 1
64535070436, 2
EAE35070437. 3
EAE3507 0435, 4

Sub-Section Number: 5
Sub-Section I1d: 646350874
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635017938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following statement(s) is/are True in respect to ICT?
| i ICT is an acronym that stands for information and competitive technology.

Q : The effective use of ICT to support learning in the inclusive education exemplifies
good teaching for all learners.

(1)  Ponly (2) Qonly
(3) Both P and Q (4) Neither P nor @
Options:

E4E35070439. 1
64535070440, 2
64535070441, 3
E453507044Z. 4

Question Number : 36 Question Id : 64635017938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFrefafiaa 4 @ #a /w8 w9 g @ & % o d w12 2/77

P®) . A e uiEd 2, R aerd FeReE Ut st e (e vE giaer et
T 21
@ gurasi e § 2t sadR % fau 2 O & 1 avrdt soe ol SendiE F oo v a=s
ST %71 32E 2 |
1) % (P) (2 e Q)
@ (@) =@ aF 4) Fd @) HATd Q)
Options:
C4E25070429 1
C4E25070440. 2
cdEZE5070441. 2
C4EZE07 0442 4

Question Number : 37 Question Id : 64635017939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 18 spyware 1in respect of computer software?

(1) Software that aims to gather information about a person without his'her knowledge,
and that may send such information to another entity

(2) Legitimate software that allows companies to monitor and supervise the computers of
their employees from a central location

(3) Software used to disrupt computer operation or gain access to private computer
systems

(4) A computer program hidden within another seemingly harmless program that
produces copies of itself and inserts them into another programs or files

Options:

435070443 1
64535070444 2
64535070445 =
64535070446, 4

Question Number : 37 Question Id : 64635017939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
64635070443,
64635070444,
64635070445.
64635070446

o IR

Question Number : 38 Question Id : 64635017940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following best describes a wiki?

(1) A system that allows users to add information onto a website but does not change
any pre-existing information

(2) A system that allows collaborative modification of 1its content and structure directly
from the web browser

(3) A system that serves as a publically accessible personal journal for an individual
(4) A system that monitors the modification of content within a blog

Options:

42350704471

E4EZE07 0448, 2

E4E35070443, 3
EAE35070450. 4

Question Number : 38 Question Id : 64635017940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fFefafaa 5 9 =9 fadh (Wiki) =1 399 e 2ar 2:

(1) & yonell, St ITERTRAlA] 1 Uh JaEEe 9 gl Sied adt 2, <ifee g | e e ot gemn
= fafda w3 81 &t |

(2) Ok qolel, S Gead ©9 3 e Ao A A% [Avaa o TRV IR araie B erat ot 2
(3) U 9UIel, S A & 8 A v safdana e & w1 1@ e wdt 2
4) U wunelt, St U sArT F oia Areied & FIRE S 2

Options:



EAE35070447. 1
64535070448, 2
64535070445, 3
64535070450, 4

Question Number : 39 Question Id : 64635017941 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Anjali's teacher uses VLE, a software tool designed to deliver courses online. The acronym
VLE stands for

(1) Video Learning Environment
(2) Visual Learning Environment
(3) Virtual Learning Environment

(4) Visual Local Environment
Options:
645350704511
64535070452, 2
64E35070452. =
64535070454, 4

Question Number : 39 Question Id : 64635017941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wetel! 1 s SAeng TreE=dl WH i F fore dun fR e v atveds 3uer U § 3w
F1 2 | 21 ufiaef & vet § @ 9 9 2
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@) TS @ FaEEHE

Options:

64535070451, 1
4835070452 2
4535070452 2
64535070454, 4

Question Number : 40 Question Id : 64635017942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the decimal equivalent of binary number 11001107

1 102
@ 204
3 153
@ 5l
Options:

64535070455, 1
E4E3507 0456, 2
EAE3507 0457, 3
64535070458, 4

Question Number : 40 Question Id : 64635017942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fg-=rha 1100110 =1 T9geH G¥HeTd FHT 27

1 102
@ 204
@ 153
@ 51
Options:

64535070455, 1
E4E3507 0456, 2
EAE3507 0457, 3
64535070458, 4

Question Number : 41 Question Id : 64635017943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which are the examples of potential kinetic energy? Select your answer from the options
given below :

1) Water that 1s beluind a dam

(11) Radio signals

(i11)  An airplane idling on the runway
av) A satellite before it 1s launched
() A colled spring

(vi)  Heat harnessed from the oceans
Options :

(1) @, ), av) and (V)
(2) @, @), (1) and (v1)
(3) (@), Gum), Gv) and (v)

(4) (@), @v), (v) and (v)

Options:

64535070459,
64535070460,
4835070461,
4635070462,

o P

Question Number : 41 Question Id : 64635017943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835070459, 1
E4E350704E0. 2
64535070461, 5
4535070462, 4

Question Number : 42 Question Id : 64635017944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Statement I : The Millennium Development Goals were adopted in the United Nations in
the year 2010

Statement II : Developing a global partnership for development was one of the Millennium
Development Goals.

Which of the above statements 1s/are correct?

(1) Only I

(2) Only IT

(3) Both I and II
(4) Neither I nor IT

Options:
64535070463, 1
4835070464, 2



EAE3507 0465, 3
BAE3507 0466, 4

Question Number : 42 Question Id : 64635017944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
4535070483 1

EAEZ507 0464, 2
EAE3507 0465, 3
BAE3507 0466, 4

Question Number : 43 Question Id : 64635017945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following conferences/summit 1s also known as UN Conference on

Sustainable Development (UNCSD)?

(1) The Stockholm Conference, 1972
2) The Rio de Janerio Conference, 1992
(3) The Johannesburg Summit, 2002

(4) The Rio + 20 Conference, 2012
Options:
E4AE2E070487. 1
C4c2507 0468, 2
64635070469, 2
64635070470, 4

Question Number : 43 Question Id : 64635017945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  &iwEm T, 1972

@  frear & sefien adie, 1992
(8)  SirEwgsri fraw o, 2002
(4  f=l +20 g9er, 2012

Options:

64535070467, 1
64535070468, 2
4835070469 2
4535070470, 4

Question Number : 44 Question Id : 64635017946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the formation of surface Ozone, which of the following do play an important role?

(a) Oxides of mtrogen
(b) Oxides of sulphur
(c) Sunlight

() Carbon monoxide

Choose the correct answer from the code given below :

1) (&, b)), ©
@ (b)) @D
@ @ 0 @
@ (@), b) @

Options:

64535070471, 1
E4E35070472. 2
64535070472, 5
64535070474, 4

Question Number : 44 Question Id : 64635017946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070471, 1
E4E35070472. 2
E4E35070472. 2
64535070474, 4

Question Number : 45 Question Id : 64635017947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following belongs to the category of geophysical hazards?

(1) Infestation (2) Avalanches
(3) Invasive species (4) Diseases
Options:

64535070475, 1
EAE3507047E, 2
EAE35070477. 3
EAE35070478. 4

Question Number : 45 Question Id : 64635017947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1)  mE (2) femam
(3) ATHMEF ST (4) st
Options:

E4E25070475. 1
E4BZ507047E. 2



EAE35070477. 3
BAE35070478. 4

Question Number : 46 Question Id : 64635017948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

GIAN (Global Imitiative of Academic Networks) has been launched by Government of India
1n order to

(1) Encourage Indian Scholars to learn abroad
(2) Discourage Indian Scholars from researching in India
(3) Encourage global scholars engage with their counter parts in India

(4) Encourage global scholars to engage with Indian Scholars abroad

Options:

64535070479, 1
64535070480, 2
645350704381, 2
48350704382 4

Question Number : 46 Question Id : 64635017948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

435070479, 1
64535070480, 2
64535070481, o
64535070482, 4

Question Number : 47 Question Id : 64635017949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following forms a necessary component of Conventional Education System
in India?

(1) Learming from books (2) Learning from the teacher
(3) Learning from thinlking (4) Learning through instructional material
Options:

E4E350704E83. 1



EAE3507 0484, 2
64535070485, 3
B4E3507 0456, 4

Question Number : 47 Question Id : 64635017949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) gl ° HigA (2) o= o dign
@)  faaT | " (4) SFeTETHS Gl & wreEm o e
Options:

64535070452, 1
EAEZ507 0454, 2
E4E3507 0485, 3
EAE3507 0456, 4

Question Number : 48 Question Id : 64635017950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following five year plans of India has e1ven special emphasis on “Education
and Manpower”?

(1) Third Five Year Plan (2) Fourth Five Year Plan
(3) Second Five Year Plan (4) Fifth Five Year Plan
Options:

64535070457, 1
64535070488, 2
E4E3507 0459, 3
EAE3507 0430, 4

Question Number : 48 Question Id : 64635017950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  derd geadia e (2) el gl A
(3)  zudl g=EdE FeE (4) Rl vEEdi AeAT
Options:

B4E535070457. 1
64535070488, 2
64535070459, 3
64535070430, 4



Question Number : 49 Question Id : 64635017951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Brain drain problem which was dominant in the muddle of 20t Century in India 1s indicative
of which one of the following aspects?

1)  Lack of adequate facilities for advanced study and research in India

1) The capacity of the developed nations to buy the talent at a price beyond the means of
the developing nations

(111) Increase of population and under utilization of human research
Choose the correct option from below

(1) Only (1) and (111)
(2) Only (i) and (iii)
(3) Only (ii1)

(4) Only (1) and (1)

Options:

4535070491, 1
64535070492 2
64535070493 =
64535070494, 4

Question Number : 49 Question Id : 64635017951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535070431, 1
E4535070432. 2
E4E3507 0433, 3
EAE3507 0434, 4



Question Number : 50 Question Id : 64635017952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The premier organisation established 1n India to deal with capacity bullding and research in
planning and management of education in India and South Asia is

(1) ATU (2) SAARC University
(3) NUEPA (4) Nalanda Unmversity
Options:

64535070435, 1
EAE3507 0436, 2
EAE3507 0437, 3
EAE3507 0438, 4

Question Number : 50 Question Id : 64635017952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) uaE.g, (2) ar% gRafdd (SAARC University)
(3 w.gidu, (@) Awe fafvaenea
Options:

64535070435, 1
64535070436, 2
64535070437, 3
EAEZ507 0435, 4
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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 646350875
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635017953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Sex 1s NOT a complex interplay of
1.  genes
2. hormones
3.  physiology

4. social status

Options:

64535070499, 1
64535070500, 2
64835070501, 2
4535070502, 4

Question Number : 51 Question Id : 64635017953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4. grHToS fRufd

Options:
4235070459, 1

EAE35070500. 2
E4E35070501. 3
64535070502, 4

Question Number : 52 Question Id : 64635017954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which year did the University Grants Commission introduce Women'’s Studies as a
discipline in higher education?

1. 1990
2. 1965
3. 1986
4. 1974

Options:



E4E35070503. 1
64535070504, 2
64535070505, 3
64535070506, 4

Question Number : 52 Question Id : 64635017954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fyyfee e A 3 Afger sreagH &1 3= e o ve vy & =9 A fg af uRy
forar um?

. 1990
2. 1975
3. 1986

4., 1974

Options:

64535070503, 1
64535070504, 2
64835070505 2
E4E35070506. 4

Question Number : 53 Question Id : 64635017955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who was the outspoken Brahmin woman reformer who questioned Hindu society on
matters related to women’s rights?

i Savitribai Phule
o Ramabai

3. Anandi Ben Joshi

4. Irawati Karve

Options:

4535070507, 1
64535070508, 2
64535070509, =
64535070510, 4

Question Number : 53 Question Id : 64635017955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070507, 1
64535070508, 2
E4E35070509. 2
4535070510, 4

Question Number : 54 Question Id : 64635017956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following was awarded the ‘Right Livelihood Award’ in 19877
1.  Chipko Movement
2. Anti-Arrack Movement
3. Narmada Bachao Movement

4.  Anti-Corruption Movement
Options:
64635070511, 1
64635070512, 2
64635070513, 3
64635070514, 4

Question Number : 54 Question Id : 64635017956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. Fge siglas
2. Uf<-3R® gadc
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4,  yYyrER-faRied siga

Options:

64635070511, 1
64535070512, 2
64535070513 2
4835070514 4

Question Number : 55 Question Id : 64635017957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following universities, formal Women’s Studies programmes were
launched first?

1. San Diego University, California
2. Cornell University, New York
3. SNDT University, Mumbai

4.  Kent University, UK

Options:

64535070515, 1
64535070516, 2
4835070517, 2
64535070518, 4

Question Number : 55 Question Id : 64635017957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E535070515. 1
64535070516, 2
64535070517, 3
645350705158, 4

Question Number : 56 Question Id : 64635017958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The term ‘*hegemonic masculinity” was popularized by
1.  Raewyn Connell
2. Ann Oakley
3.  Kamla Bhasin

4.  Radhika Chopra

Options:

64635070519, 1
64535070520 2
64535070521, 2
4835070522, 4

Question Number : 56 Question Id : 64635017958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



E4E35070515. 1
6435070520, 2
64535070521, 3
64535070522, 4

Question Number : 57 Question Id : 64635017959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following is NOT related to the concept of biological determinism?
.  Anatomy is destiny
2. Women shall take decisions pertaining to their bodily functions

3. Because of the womb, pregnancy and childbirth are inevitable functions of
the female body

4.  Taking care of children is women'’s responsibility

Options:
4535070523 1

EAEZ5070524. 2
EAE3507 0525, 3
BAE3507 0526, 4

Question Number : 57 Question Id : 64635017959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070523, 1
64535070524, 2
E4E35070525. 2
E4E35070526. 4

Question Number : 58 Question Id : 64635017960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following was NOT an objective of the committee on the status of
women in India?

1.  To assess the impact of constitutional provisions on the social status of
women

2. To determine the factors responsible for slow progress of women’s
education

3.  To survey the problems of working women

4.  To analyse the reasons for increasing rate of domestic violence

Options:

4535070527, 1
64535070528, 2
64535070529 2
64535070530 4

Question Number : 58 Question Id : 64635017960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4535070527, 1
64535070528, 2
64535070529 2
64535070530 4

Question Number : 59 Question Id : 64635017961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The term *Brahmanical patriarchy’ was first used by
1. Sharmila Rege
2. Uma Chakravarti
3.  Sylvia Walby

4, Maria Mies

Options:

64535070531, 1
E4E350705322. 2
4535070522 2
64535070524, 4

Question Number : 59 Question Id : 64635017961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2. JHIIHAd!
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Options:
E4E25070531. 1

EAEZ5070532. 2
E4E35070533. 3
BAE35070534. 4

Question Number : 60 Question Id : 64635017962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What refers to the practice of placing male or masculine point of view to study culture,
society, history, etc.?

.  Androcentricism
2. Queerness
3. Masculinity

4. Man-ness



Options:

64535070535, 1
E4E350705326. 2
E4E35070527. 2
64535070528, 4

Question Number : 60 Question Id : 64635017962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. g%y isd (e
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Options:

4635070535, 1
64535070536, 2
64535070537, 2
64535070538, 4

Question Number : 61 Question Id : 64635017963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following focuses on how modern societies discriminated against women?

I Romanticism
2. Feminism
3. Darwinism

4. Humanism

Options:

64535070539, 1
64535070540, 2
4535070541, =2
64535070542, 4

Question Number : 61 Question Id : 64635017963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2. ARErR

3. glfidare
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Options:

64635070539, 1
64535070540, 2
64535070541, =
4835070542 4

Question Number : 62 Question Id : 64635017964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which was the path breaking report on gender inequality in India?
1. Shramshakti
2. National Perspective Plan
3.  Towards Equality
4.  Beijing Platform for Action

Options:

4835070543, 1
64535070544, 2
64535070545, o
64535070546, 4

Question Number : 62 Question Id : 64635017964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070543, 1
64535070544, 2
64835070545 =2
4535070546, 4

Question Number : 63 Question Id : 64635017965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Within the family he is bourgeois and the wife represents the proletariat.” Who said
this?
l. G.B. Shaw
2. Rosa Luxemburg

3.  Frederick Engels

4,  Clare Zetkins

Options:

64535070547, 1
64535070548, 2
64535070549 =
4835070550 4

Question Number : 63 Question Id : 64635017965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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2. I AT
3. el Wi
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Options:

64535070547, 1
64535070548, 2
64535070549 =
4835070550 4

Question Number : 64 Question Id : 64635017966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Theory of matriarchy was used as an explanation for *“Women’s Post’ by

I Simone de Beauvoir

-3

Sharmila Rege
3.  Mary Wollstonecraft

4. Juliet Mitchell

Options:

64635070551, 1
64535070552, 2
64535070553 2
64535070554, 4

Question Number : 64 Question Id : 64635017966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535070551, 1
E4E35070552. 2
4535070552 2
64535070554, 4

Question Number : 65 Question Id : 64635017967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Why are women treated as secondary citizens?

1.  They are dependent

Ex.i

They are physically weak
3.  They are unable to take decisions

4.  Patriarchal society prevails

Options:
64535070555,

1
EAE3507 0556, 2
64535070557, 3
64535070558, 4

Question Number : 65 Question Id : 64635017967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535070555, 1
64535070556, 2
E4E35070557. 2
4535070558 4

Question Number : 66 Question Id : 64635017968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following is the author of the book, The Laugh of the Medusa?
1.  Maria Mies
2. Virginia Woolf
3. Julia Kristeva

4, Helene Cixous

Options:

64535070559, 1
64535070560, 2
64535070561, 2
4835070562, 4

Question Number : 66 Question Id : 64635017968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. A ARy
2. gullg1 g5k
3. offerar fopean
4. goH Ryaad

Options:

64535070559, 1
E4E35070560. 2
4535070561, 2
4535070562, 4

Question Number : 67 Question Id : 64635017969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following are underlying beliefs of all feminism?

(a) Women are being oppressed

(b) Women'’s oppression is man-made

(¢) Women themselves must resolve their issues

(d) Gender division of labour places an unfair burden on women
Choose the correct option :

. (a),(b)and (c)

2. (a),(b)and (d)

3. (a).(c)and (d)

4. (a)and (b) only

Options:

64535070563, 1
64535070564, 2
4835070565 2
E4E35070566. 4

Question Number : 67 Question Id : 64635017969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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o

(a), (b) 3R (c)

(g

(a), (b) 3R (d)
3. (a)(c) 3R (d)
4. ad (a) 3R (b)

Options:

4835070563, 1
E4E35070564. 2
4535070565, 5
4535070566, 4

Question Number : 68 Question Id : 64635017970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following 1s NOT regarded as a French post structuralist feminist?
1.  Caroline Kauffmann
2. Helene Cixous
3.  Luce Irigaray

4. Julia Kristeva

Options:

4535070567, 1
64535070568, 2
64535070569 2
64535070570, 4

Question Number : 68 Question Id : 64635017970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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2. g fyeed

3. wEIRR

4.  fern fpean

Options:

4635070567, 1
64535070568, 2
64535070569 2
64535070570, 4

Question Number : 69 Question Id : 64635017971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Francoise d’Eaubonne is associated with which feminism?

1. Black feminism

-2

Marxist feminism
3 French feminism

4, Ecofeminism

Options:

64835070571, 1
E4E35070572. 2
64535070572, 5
4535070574, 4

Question Number : 69 Question Id : 64635017971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. &% ARIag
2. HIRdrE! AR
3. ARG
4.  THI-ARIAE

Options:

64535070571, 1
E4E3E5070572. 2
E4E35070572. 2
4535070574, 4

Question Number : 70 Question Id : 64635017972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which branch of feminism asserts that gender differences are not based on biology and
that women and men should have the same rights and same educational opportunities?

L. Radical
2 Liberal
= Socialist

4.  Marxist
Options:
645350705751
G4AE3E07057E. 2
G4G3S070577. 3
64535070578, 4

Question Number : 70 Question Id : 64635017972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070575, 1
64535070576, 2
64535070577, 2
4835070578, 4

Question Number : 71 Question Id : 64635017973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Objectification theory is based on which assumption?

[.  Objectification occurs within actual interpersonal and social encounter

[I.  Objectification occurs in visual media that depicts social and interpersonal
encounters

[1I.  People’s encounter with visual media that highlights body parts and align
viewers with sexualizing gaze

Select the correct option :

. Tonly
2. Il only
3. Il only

4, I, 1T and 111, all

Options:

64535070579, 1
64535070580, 2
64835070581, 2
4535070582 4

Question Number : 71 Question Id : 64635017973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

4835070579, 1
4535070580, 2
64535070581, o
64535070582, 4

Question Number : 72 Question Id : 64635017974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which is the way in which sexual relations between men and women are viewed as the
normal and natural way of being?

I.  Homosexuality
2. Homophobic
3. Homosapien

4.  Heteronormativity

Options:

E4E35070583. 1
4535070584, 2
64535070585, o
64535070586, 4



Question Number : 72 Question Id : 64635017974 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070583, 1
64535070584, 2
64835070585 2
4535070586, 4

Question Number : 73 Question Id : 64635017975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s NOT endorsed by feminist frameworks?

1. Commitment to changing oppressive structures

!d

Women’s power over men
3. Power differentials between men and women

4. Questions women'’s subordination

Options:

64535070587, 1
64535070588, 2
64535070589, 2
4535070590, 4

Question Number : 73 Question Id : 64635017975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. goul 3R Afgensi & dta wfd v
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Options:

4635070587, 1
64535070588, 2
64535070589 =
64535070590, 4

Question Number : 74 Question Id : 64635017976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The concept of psychological androgyny involves individuals whose stereotypic
behavioural traits are

.  negative masculine
2. masculine and feminine
3.  positive feminine

4.  positive masculine

Options:

64635070591, 1
E4E35070592. 2
4535070592, 5
64535070594, 4

Question Number : 74 Question Id : 64635017976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. USRS ARG
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Options:

64535070591, 1
64535070592, 2
64835070592 2
4535070594, 4

Question Number : 75 Question Id : 64635017977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following aspects gender bias exists of the secondary education level in
India?

.  Enrolment
2. Classroom practices
3.  Play provisions

4, All of the above

Options:

64535070595, 1
E4E35070596. 2
E4E35070597. 2
64535070598, 4

Question Number : 75 Question Id : 64635017977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070595, 1
64535070596, 2
64535070597, 2
4835070598 4

Question Number : 76 Question Id : 64635017978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

GCE stands for
. Global Campaign for Education
2. Global Campaign for Environment
3.  Global Concern for Equality

4.  Global Concern for Empowerment

Options:

64535070599, 1
64535070600, 2
4835070801, 2
4535070602, 4

Question Number : 76 Question Id : 64635017978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070599, 1
E4E35070800. 2
4535070801, 2
4535070602, 4

Question Number : 77 Question Id : 64635017979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The book Gender and Higher Education in the Time of Reform is written by

1. Meenakshi Gopinath

!x.?l

Mary John
3. Meenakshi Gautam

4. Kumud Sharma

Options:

4535070603, 1
64535070604, 2
64535070605, 2
4835070806, 4

Question Number : 77 Question Id : 64635017979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070603, 1
E4E35070804. 2
E4E35070805. 2
4535070606, 4

Question Number : 78 Question Id : 64635017980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Bhaktavatsalam Committee was formed in 1963 to
. study the problem of child marriage
2. study the problem of women’s education
3. study the problem of women’s health

4.  study the problem of dowry

Options:

64535070607, 1
64535070608, 2
4835070809, 2
E4E35070810. 4

Question Number : 78 Question Id : 64635017980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

oy 1963 H YaaacTerd Sfifa &1 7+ fawar mar o :

. o fqare &t S & e & fag
Hige e &t gHw & ey & fog
3. Hfp W I GHRI & g & fag
4. CoYl Ol GHE & HHTH P forg

b2

Options:

64535070607, 1
64535070608, 2
E4E35070809. 2
E4E35070810. 4

Question Number : 79 Question Id : 64635017981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

National Committee in Women’s Education was formed in

1.  1964-65
2. 1958-59
3. 1957-58
4. 195658

Options:



EAE350706811. 1
BAE3507081Z. 2
64535070813, 3
64535070614, 4

Question Number : 79 Question Id : 64635017981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TPt wfgen Rian wiifa &1 7e Fa oo man ar?

1.  1964-65
2. 195859
3. 183758
4. 195658

Options:

64835070611, 1
E4E35070812. 2
64535070612,
4535070614, 4

Question Number : 80 Question Id : 64635017982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following country rate of labour force participation among female aged
15 and above is lowest?

1.  Turkey
2. Pakistan
3. Syria

4. India

Options:

64635070615, 1
E4E35070816. 2
4635070617, 5
64535070618, 4

Question Number : 80 Question Id : 64635017982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35070615. 1
6435070816, 2
4535070617, 3
45350706158, 4

Question Number : 81 Question Id : 64635017983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The Committee on the Status of Self-employed Women and Women in Unorganized
Sector was headed by

L Lotika Sarkar
2. Kumud Sharma

8 Ela Bhatt

4.  Neera Desai

Options:

64535070619, 1
64535070620, 2
E4E35070821. 2
E4E35070822. 4

Question Number : 81 Question Id : 64635017983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070619, 1
64535070620, 2
64535070621, 2
E4E3S070822. 4

Question Number : 82 Question Id : 64635017984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following works constitutes “triple burden’ for women?
(a) Community work
(b) Sex work
(c) Productive work
(d) Reproductive work
Choose the correct option :
1. (a),(b)and (c)
2. (b),(c)and (d)
3. (a),(c)and (d)

4. (a), (b)and (d)

Options:

64635070623, 1
64535070624, 2
64535070625, o
E4E35070826. 4

Question Number : 82 Question Id : 64635017984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(b), (c) 3R (d)

Options:

64635070623, 1
64535070624, 2
64535070625, o
E4E35070826. 4

Question Number : 83 Question Id : 64635017985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

When was the term ‘feminisation of poverty” introduced in United States?
1. Late 1970s
2. Late 1980s
3. Late 1960s

4. Late 1990s

Options:

64535070627, 1
E4E3507082E. 2
E4E35070829. 2
4535070620, 4



Question Number : 83 Question Id : 64635017985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hga AP H BRI it Uiadl Weg e RN fobar ma ur?
1. 1970 % =P & Iad A
2. 1980 % GRP & ITRIY H
3. 1960 % GRP & ITRIY H

4. 1990 &% TN® & Iy A

Options:

64635070627, 1
E4E3E070B2E. 2
4535070629, 5
4535070620, 4

Question Number : 84 Question Id : 64635017986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to which Indian economist, ‘Among households based on any criteria,
female headed households tend to be the poorest’?

[

Amartya Sen
2. Gita Sen
3.  Gita Gopinath

4.  Devaki Jain

Options:

64535070631, 1
E4E35070832. 2
E4E35070823. 2
64535070624, 4

Question Number : 84 Question Id : 64635017986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635070631, 1
64535070632, 2
64535070633 2
E4E35070824. 4

Question Number : 85 Question Id : 64635017987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The structural functionalist perspective sees gender roles as a product of
I.  Gender differences
[I.  Power between ‘haves’ and ‘have nots’
III.  Social institutions

Select the correct option :

. Tonly
2.  Ionly
3. Il only

4. I, IT and III, all

Options:

64635070635, 1
64535070636, 2
64535070637, 2
E4E35070832E. 4

Question Number : 85 Question Id : 64635017987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4. L 11 3R 111, =

Options:

64535070635, 1
64535070636, 2
E4E3S070837. 2
E4E3507082E. 4

Question Number : 86 Question Id : 64635017988 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following factors is responsible for the low status of women in India?
1. Education system
2. Physical weakness of women
3.  Employment pattern

4.  Patriarchal system of the society

Options:

64535070639, 1
64535070640, 2
E4E35070841. 2
E4E35070842. 4

Question Number : 86 Question Id : 64635017988 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070635, 1
64535070640, 2
4535070641, 3
EAEZ507 0642, 4

Question Number : 87 Question Id : 64635017989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which Five-Year Plan, the programme STEP was formulated?

1. 5" Five-Year Plan
2. 6" Five-Year Plan
3. 7" Five-Year Plan

4. 8" Five-Year Plan

Options:

4535070643, 1
64535070644, 2
64535070645 =
E4E35070646. 4

Question Number : 87 Question Id : 64635017989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4E2E07064=2. 1

EAE3507 0644, 2
EAE3507 0645, 3
BAE3507 0646, 4

Question Number : 88 Question Id : 64635017990 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Organization of poor women in the informal sector of the economy is/are
.  Working Women’s Forum
II.  The Self Employed Women'’s Association
Select the correct option :
l. Tonly
2. Il only
3. Tand Il both

4. Neither [ nor 11

Options:
64535070647, 1
64535070648, 2

E4EZ5070645. 3



EAE3507 0650, 4

Question Number : 88 Question Id : 64635017990 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070647, 1
64535070648, 2
E4E35070849 2
4535070650, 4

Question Number : 89 Question Id : 64635017991 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Concept of self-help group was introduced by
1.  Amartya Sen
2. Muhammad Yunus
3.  Naila Kabeer

4, Maria Mies

Options:
4535070651, 1
64535070652, 2



EAE3507 0653, 3
EAE350706854. 4

Question Number : 89 Question Id : 64635017991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635070651, 1
4835070852, 2
E4E35070852. 2
64535070654, 4

Question Number : 90 Question Id : 64635017992 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Grameen Bank was first introduced in which one of the following countries?

1. Nepal
7.8 Bhutan
3. India

4.  Bangladesh

Options:

64535070655, 1
64535070656, 2
4835070857, 2
4535070655, 4

Question Number : 90 Question Id : 64635017992 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835070655, 1
4535070656, 2
64535070657, o
64535070658, 4

Question Number : 91 Question Id : 64635017993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Setting up of a ‘Development Bank’ for women entrepreneur was proposed in :

. 7" Five-Year Plan
2. 8" Five-Year Plan
3. 9" Five-Year Plan
4. 10" Five-Year Plan

Options:

64635070659, 1

64635070660, 2

EAE35070EE]L. 3
BAE35070EEE. 4

Question Number : 91 Question Id : 64635017993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Aigen Seftrl & o faem d6° St RIY=1 %1 wward faan mar o7 -
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Options:



EAE35070655. 1
BAE3507 0860, 2
EAE350708E61. 3
453507 06EZ. 4

Question Number : 92 Question Id : 64635017994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following options relates to the phenomenon of “glass escalator’?
I.  Women workers surpassing men workers in male-dominated professions
2. Women opting for male-dominated professions
3. Men workers surpassing women workers in female-dominated professions

4. Men opting for female-dominated professions
Options:
64635070663, 1
64635070664, 2
64635070665, 3
64635070666, 4

Question Number : 92 Question Id : 64635017994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fFafafaa § 9 $19-u1 e “Targ tepacy’ & uiewg O defia 22
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Options:

64535070663, 1
E4E350706E4. 2
E4E35070BES. 2
4535070666, 4

I~

Question Number : 93 Question Id : 64635017995 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following was identified as one among the 20 best practices in the
world by the United Nations?

1. Swachh Bharat
2. SEWA
3. Jagratha Samithi

4, Kudumbasree

Options:
E4E3507 0667, 1

EAE35070EER. 2
EAE350708ET. 3
BAEZ5070670. 4

Question Number : 93 Question Id : 64635017995 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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. ¥ URd
2. ¥ar

3. omd gfAfa
4.  HgEd

Options:

4535070667, 1
4535070668, 2
64535070669, =
64535070670, 4

Question Number : 94 Question Id : 64635017996 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who is the Egyptian feminist who has written books on women in Islam with special
reference to female genital mutilation?

k, Amina Wadud

Z. Fatima Mernissi

3. Nawal El Saadawi

4. Leila Ahmed

Options:

4535070671, 1
64535070672, 2
64535070673 2
E4E35070674. 4

Question Number : 94 Question Id : 64635017996 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e 9t 9g Trardl @14 © e afgen s oM & Ry ded & st aftersdf w) gwad
ferdt 87

1. 3EFTage
2. rfaHn HRfAE
3. Tdd g Hredt
4, Il 3EHG

Options:

64535070671, 1
64535070672, 2
E4E3S070B73. 2
4535070674, 4

Question Number : 95 Question Id : 64635017997 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Forum Against Sex Determination and Sex Pre-selection was formed in
1. 1983 in Delhi
2. 1984 in Pune
3. 1985 in Bombay

4. 1986 in Hyderabad

Options:

4535070675, 1
64535070676, 2
64535070677, o
E4E3507087E. 4

Question Number : 95 Question Id : 64635017997 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fefrr-FefRor SR fofr-gdaa & favg o &t wig=r 7 <&
1. 1983 fiwelt &

1984 H QU |

3. 1985 H SR H

4. 1986 H geraTe A
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Options:
E4E3507 0675,

1
EAEZIS070EYE. 2
BAEZS070EYY. 3
BAE3507087E. 4

Question Number : 96 Question Id : 64635017998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Provision of the Surrogacy (Regulation) Bill was approved by the Union Cabinet in the
year

1. 2014
2. 2015
3. 2016
4. 2017

Options:

64535070679, 1
64535070680, 2
E4E350708E1. 2
E4E35070822. 4

Question Number : 96 Question Id : 64635017998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

S TS gR1 TR (faf e fadas & Iudy &) g ad & smfea fasar mar ur?
1. 2014H
2. 2015#
3. 2016H

4. 2017H

Options:

64535070679, 1
E4E350708E0. 2
E4E35070881. 2
4535070682, 4

Question Number : 97 Question Id : 64635017999 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Pre-Natal Diagnostic Technique (Regulation and Prevention of Misuse) Act, 1994 was
amended in the year

. 2002
2. 2003
3. 2004
4. 2005

Options:
E4E25070653. 1

EAE3507 0684, 2
EAE3507 06885, 3
EAE3507 0656, 4

Question Number : 97 Question Id : 64635017999 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tgfa-gd FeFed de-ie (AHgH- 3R geudnT &1 Faro) fafFgH, 1994 # fog au
TeneA fosar mar?

1. 20027%H

2003 #

l_:\.l

3. 2004H

4. 2005H

Options:

64535070683, 1
E4E35070824. 2
E4E35070885. 2
4535070686, 4

Question Number : 98 Question Id : 64635018000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

International Conference on Population and Development was held in

1.  Beijing in 1995

(]

Washington in 1992
3.  Cairoin 1994

4. Geneva in 1990



Options:

64535070687, 1
E4E350708EE. 2
E4E35070829. 2
64535070690, 4

Question Number : 98 Question Id : 64635018000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

STERET 1R faPhT IR RIS Ga ST gaM o ;
1. 1995 H &fifoiT A
2. 1992 # qifRiTre #
3. 1994 HBRAH
4. 1990 # foar &

Options:

64535070687, 1
64535070688, 2
4835070829, 2
45350706390, 4

Question Number : 99 Question Id : 64635018001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Child sex ratio as per 2011 Census of India is

1. 914
2. 916
3. 18
4.  92]

Options:

64535070691, 1
64535070692, 2
64535070693 2
4835070594, 4

Question Number : 99 Question Id : 64635018001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



YR $I 2011 B FHIVHT & 38R e AU g :
1. 914
2. 916
3. 918

4. 921

Options:

64535070691, 1
E4E35070892. 2
E4E35070892. 2
4535070694, 4

Question Number : 100 Question Id : 64635018002 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Global Gender Gap Index was first introduced by World Economic Forum in the
year

1. 2004
2. 2006
3. 2008
4. 2002

Options:

64535070695, 1
64535070696, 2
4835070837, 2
4535070695, 4

Question Number : 100 Question Id : 64635018002 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fay snffe da gr1 af¥ie A Siavid Ya&i® (The Global Gender Gap Index) 1 IF31Td
forg af ot 71 off?

. 20047
2. 2006H
3. 2008°FH

4. 2002°H
Options:
£46835070695. 1
£4635070696. 2
64635070697, 3
64635070698, 4

Question Number : 101 Question Id : 64635018003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following Union Territories has highest percentage of female-headed
household as per 2011 Census?

1. Delhi
2. Pondicherry
3.  Andaman and Nicobar

4.  Lakshadweep

Options:

4835070699, 1
4535070700, 2
64535070701, 2
64535070702, 4

Question Number : 101 Question Id : 64635018003 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



2011 I SUAT & SER FafefEaa # ¥ 59 99 Isu-a3 # Afedr uuH uRart &1 ufawa
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1. (el

2. Ui

3. 3ieHM 3R FeeR
4. &g

Options:

64535070699, 1
64535070700, 2
4835070701, 2
E4E35070702. 4

Question Number : 102 Question Id : 64635018004 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following country ranked top in the Global Gender Gap Index for the last
two consecutive years?

.  Norway

2. Sweden

fad

Iceland

4, Finland

Options:

64535070703, 1
E4E35070704. 2
4535070705, 5
4535070706, 4

Question Number : 102 Question Id : 64635018004 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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. A

2. wWted
3. HEHds
4. foads

Options:
425070703 1

E4E35070704, 2
EAE35070705. 3
EAE35070706. 4

Question Number : 103 Question Id : 64635018005 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

The “WID’ approach was primarily introduced by
1. American Liberal Feminist
2. American Radical Feminist
3.  African Marxist Feminist

4.  None of the above

Options:

4535070707, 1
64535070708, 2
64535070709, 2
4835070710, 4

Question Number : 103 Question Id : 64635018005 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070707, 1
E4E35070708. 2
4535070709, 2
4535070710, 4

Question Number : 104 Question Id : 64635018006 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The beneficiaries under SWADHAR scheme include :

1. Widows deserted by their families and relatives
2. Women prisoners released from the jail without family support
3. Women survivors of national disaster who have been rendered homeless

4, All of the above

Options:

4635070711, 1
64535070712 2
64535070713 2
64535070714, 4

Question Number : 104 Question 1d : 64635018006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“WIYR’ AT & aruTfla & wnfere B
1. 3o uRarT 3R Redert g uftaed favart
2. URGR 31 ewdl & o o @ fgr 31 7€ Afeen wd
3. TP ST i AR o SR 8 99 B
4. Iugad gt

Options:
4535070711, 1

EAEZ5070712. 2
EAE35070713. 3
BAE35070714. 4

Question Number : 105 Question Id : 64635018007 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one is the pioneer country in developing gender-sensitive budget initiative?
1. United Kingdom
2. Australia
3.  Europe

4.  Africa
Options:
E4E25070715. 1
EAB25070716. 2
E4E35070717. 3
64535070715 4

Question Number : 105 Question Id : 64635018007 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

SR ! goic Ugd fasiiid He | Soft Iy HH-91 87
gEes fbren

e
*

2. ofieefern
3. WY
4.  BIDI

Options:

64835070715, 1
E4E35070716. 2
64535070717, 5
4535070718, 4

Question Number : 106 Question Id : 64635018008 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following countries introduced ‘Happiness Audit” for the first time?
.  Dubai
2. Finland
3. Iceland

4. Bhutan

Options:



EAE35070713. 1
BAE35070720. 2
6435070721, 3
4535070722, 4

Question Number : 106 Question Id : 64635018008 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
E4E2E0707159. 1

EAE35070720. 2
BAE35070721. 3
BAEZS070722. 4

Question Number : 107 Question 1d : 64635018009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How 1s Gender Inequality Index calculated?

1. A general disparity between male and female achievements in economic
status.

2. Reproductive health, empowerment and economic status,

3.  Inequality achievement between men and women in reproductive health,
empowerment and economic status.

4. Disparity between men and women in work participation rate.

Options:

64535070723, 1
E4E35070724. 2
E4E35070725. 2
4535070726, 4

Question Number : 107 Question Id : 64635018009 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AP STHFA Gabib B UM Y B ST 87
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Options:

64535070723, 1
64535070724, 2
E4E35070725. 2
E4E35070726. 4

Question Number : 108 Question Id : 64635018010 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following is NOT highlighted by Amartya Sen as a gender inequality
existing in South Asian countries?

1. Mortality inequality

2. Professional inequality

3. Leadership inequality

4. Ownership inequality

Options:

4535070727, 1
64535070728, 2
64535070729, 2
E4E35070720. 4

Question Number : 108 Question Id : 64635018010 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frofafea & 3 62 smdd 37 g afam uRrrs wpt # fagmm o sraamar & w0 & Yaifed
T8 fovan a1 ©7

. Tgel AGaEdl
2. AGYIRAS AHM
3. Agd AGEEl

4. WG AHHEA

Options:



BAE35070727. 1
BAE35070728. 2
6435070725, 3
64535070730, 4

Question Number : 109 Question Id : 64635018011 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Gender equality refers to
1.  benefits men by driving power and privilege
2. benefits men by not changing the system
3. challenge religious and cultural practices

4.  integrating women into existing development programmes

Options:

64535070731, 1
64535070732 2
4835070732 2
E4E350707324. 4

Question Number : 109 Question Id : 64635018011 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

CIfRYes THT 1 3121 B
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Options:

64635070731, 1
64535070732 2
64535070733 2
48350707324, 4

Question Number : 110 Question Id : 64635018012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Sixth Plan document included :

L. Economic independence, access to health care and family planning

I1. Access education

Select the correct option :

[—

[ only

[

IT only
3. Neither I nor 11

4, Both I and II

Options:

64535070735, 1
64535070736, 2
64535070737, 2
48350707328, 4

Question Number : 110 Question Id : 64635018012 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070735, 1
64535070736, 2
64535070737, 2



EAE35070738. 4

Question Number : 111 Question Id : 64635018013 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Beijing Platform for Action’ calls on government to formulate policies on economic,
social and agricultural in support of

1. Male-headed household

2. Female-headed household

3.  Transgender-headed household

4, None of the above

Options:

64635070739, 1
64535070740, 2
64535070741, =
E4E35070742. 4

Question Number : 111 Question Id : 64635018013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64635070739, 1
64535070740, 2
64535070741, =
E4E35070742. 4
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Question Number : 112 Question 1d : 64635018014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



International Decade for Women refers to the years

1. 1975-1985
2. 1985-1995
3. 1980-1990
4. 1990-2000

Options:

4535070743, 1
64535070744, 2
64535070745, 2
4835070746, 4

Question Number : 112 Question Id : 64635018014 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SfeRTPTT Afgd guIe &1 e/ § i sraf 37

1975-1985 9

o

2. 1985-1995 9
3. 1980-1990 9

4. 1990-20009

Options:

4835070743, 1
E4E35070744. 2
64535070745, o
4535070746, 4

Question Number : 113 Question Id : 64635018015 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many countries have become parties to this optional protocol of CEDAW?

1. 103
2. 105
3. 106
4. 107

Options:



EAE35070747. 1
64535070748, 2
64535070745, 3
64535070750, 4

Question Number : 113 Question Id : 64635018015 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

6 £ & U s, ¥ Il Tt b Red U TR ST

L 103

R

105
3. 106

4. 107

Options:

64535070747, 1
64535070748, 2
E4E35070749. 2
4535070750, 4

Question Number : 114 Question Id : 64635018016 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The only State with a Uniform Civil Code in India is :

) Goa

-2

Kerala

3. Tamil Nadu

4. Andhra Pradesh

Options:

4535070751, 1
64535070752, 2
64535070753, 5
64535070754, 4

Question Number : 114 Question Id : 64635018016 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4. YUY

Options:
64535070751, 1

EAE35070752. 2
EAE35070753. 3
BAE35070754. 4

Question Number : 115 Question Id : 64635018017 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

The first State in India that has formulated a transgender policy is
1. Tamil Nadu
2.  Kerala

3. Karnataka

4. Maharashtra

Options:

64535070755, 1
64535070756, 2
64535070757, 2
4835070758, 4

Question Number : 115 Question Id : 64635018017 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



EAE35070755. 1
64535070756, 2
6435070757, 3
64535070758, 4

Question Number : 116 Question Id : 64635018018 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who introduced the term ‘Feminist Jurisprudence’?
.  Flavia Agnes
2. Indira Jaising
3. Ann Scales

4. Meenakshi Lekhi

Options:

64635070759, 1
4835070760, 2
E4E350707E1. 2
4535070762, 4

Question Number : 116 Question Id : 64635018018 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
4535070759 1

EAEZ5070760. 2
EAE350707EL. 3
BAE35070762. 4

Question Number : 117 Question Id : 64635018019 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which Article in the Indian Constitution has provisions for maternity leave?

l. Article 16

ta.i

Article 42
3. Article 44

4.  Article 45
Options:
64E35070762. 1
G4AE3E0707E4. 2
64535070765, 3
6435070766, 4

Question Number : 117 Question Id : 64635018019 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070763, 1
64535070764, 2
4835070765 2
64535070766, 4

Question Number : 118 Question Id : 64635018020 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



As per the PNDT Act, which among the following conditions related to women’s age
permits for prenatal diagnostic tests?

L. Above 30
2. Above 28
3 Above 35

4. Above 33

Options:

64535070767, 1
E4E3E50707EE. 2
E4E350707E9. 2
4535070770, 4

Question Number : 118 Question Id : 64635018020 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

. T3, 81 €. U & SuR, Afgdl 31 3 ¥ Hdfta Fafifed d € oF-9t Rufa ugfd-gd
frgTTEr® Tie &t orafa oot 87

1. 3094 ¥ 3P
2. 28N 3D
3. 35999 3fs
4. 33999 3

Options:

64535070767, 1
E4E3E50707EE. 2
E4E350707E9. 2
4535070770, 4

Question Number : 119 Question Id : 64635018021 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following protective legislations for women in the chronological order :
(a) PC PNDT Act
(b) Sexual Harassment at Workplace Act

(c) Domestic Violence Act

(d) Prohibition of Child Marriage Act
Choose the correct option :

. (a),(d),(c), (b)

2. (a),(c), (d), (b)

3. (d),(a),(c), (b)

4. (d).(a). (b), ()

Options:
435070771, 1

BAGZS0707 72 2
BAE35070773. 3
BAE350707 74, 4

Question Number : 119 Question 1d : 64635018021 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



afgenstt & fore Fufefaa e faumi & STasarIuR saafyd Hifg ;

(a) W{ N QAo

(b) HHRE R IH IdtsT ffam

(c) ?Ii?l%'\‘ﬂ sfefasn

(d) «ra faare ufdsy sifefyam

Te! fad ey &1 907 Hifor :

. (a),(d),(c), (b)

2. (a),(c), (d), (b)

3. (d).(a),(c), (b)

4. (d).(a), (b), (c)

Options:

4635070771, 1
4535070772 2
64535070773, 2
64535070774, 4



Question Number : 120 Question Id : 64635018022 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which European country is the first one to give legal sanction to gay marriage?

1.  Denmark
2. Sweden
3. Norway
4.  Holland

Options:

E4E35070775. 1
4535070776, 2
4535070777, 3
64535070778, 4

Question Number : 120 Question Id : 64635018022 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

YRS fAaTg & S WPl e $ ara gl QUG G SHIH-91 87
. STHS
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Options:

4535070775, 1
4535070776 2
64535070777, 2
64535070773, 4

Question Number : 121 Question 1d : 64635018023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following is NOT controlled by personal laws?
.  Custody and guardianship of children
2. Property rights
3.  Marriage and divorce

4. Right to education and employment

Options:

E4E35070779. 1
E4E35070720. 2
64535070781, o
4535070782, 4

Question Number : 121 Question Id : 64635018023 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fofifed & 9 F-1 w@y faftl 8 Frfa a8 87
1. o @ it 3R sftvradsar
2. WUf PR
3. fdam ok qere
4. Tigm SR ISR &1 SHTPR

Options:
EAEZE0707759. 1

EAEZ507 0780, 2
E4E35070781. 3
BAE35070782. 4

Question Number : 122 Question Id : 64635018024 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The term *scopophilia’ refers to
. love of writing
2. love of viewing
3. love of singing

4. love of travelling



Options:

64535070783, 1
E4E35070724. 2
E4E35070785. 2
45350707386, 4

Question Number : 122 Question Id : 64635018024 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

THIIBTRT 2T P 3T B
1. forg &l
2. Q@IS
3. TH SIS

4. GETHH IS

Options:

4835070783, 1
E4E35070724. 2
64535070785, o
4535070786, 4

Question Number : 123 Question Id : 64635018025 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Budapest Convention is about

I.  cybercrime
2. child rights
3.  women’s sexual rights

4.  disability rights

Options:

4535070787, 1
64535070788, 2
64535070789, 2
64535070730, 4

Question Number : 123 Question 1d : 64635018025 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35070787. 1
E4E350707388. 2
64535070789, o
64535070730, 4

Question Number : 124 Question Id : 64635018026 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following discusses the depictions of same-sex desire in literary and
visual texts?

1.  Gopal Guru
2. Anupama Rao
3.  Ruth Vanita

4, Leela Dube

Options:

64535070791, 1
64535070732, 2
4835070732 2
64535070794, 4

Question Number : 124 Question Id : 64635018026 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=97 4 frgn uifefAe 3R =g ursl & gHafie sw=1 & fomur ww ==f #1872

.  TUE TS
2. UG
3. JYaEd
4. dregd

Options:

64535070791, 1
64535070732, 2
48350707392 2
E4E35070794. 4

Question Number : 125 Question Id : 64635018027 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following is NOT a Women’s Studies journal?
1.  Manushi
2. Social Scientist
3.  Women’s Link

4.  Samyuktha

Options:

64535070795, 1
64535070796, 2
64535070737, 2
4835070738 4

Question Number : 125 Question Id : 64635018027 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frafcfad o @ ®H- v afed srege Jae ufier 781 82

1. g
2. IYd gEfew

Options:



EAE35070735. 1
BAE35070736. 2
BAE35070737. 3
64535070738, 4

Question Number : 126 Question Id : 64635018028 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sampling technique in which every unit has an equal chance to represent the
population and to be selected in the sample is known as—

1.  Random sampling

[d

Quota sampling
3. Stratified sampling
4.  Multi-stage sampling
Options:
64635070799, 1
64635070800, 2

E4E35070801. 3
EAE3507080Z2. 4

Question Number : 126 Question Id : 64635018028 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

dg Ufcaae da-ie o Ude soTs & S 9e (TAfP) &1 ufaf i &34 sik ufaed &
w0 & Fafd 5T oA &1 9a (e firedT €, Heard e—

1. gref=se ufdaga
2. leryferEdd

3. wWiled ufdaaA

4. &g-T’ig ufaaga

Options:

4635070799, 1
64535070800, 2
64535070801, =
64535070802, 4

Question Number : 127 Question 1d : 64635018029 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following is NOT an underlying assumption of feminist research?
1.  Women are oppressed
2. The personal is political
3. A woman is a woman’s enemy

4, Feminist consciousness is to be raised

Options:

4835070203, 1
E4E35070804. 2
64535070805, o
4535070806, 4

Question Number : 127 Question Id : 64635018029 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frafefaa & ¥ eF-t aiard srdu™ &t ue saffed gdurom =g 87
1. ofgem Iafifed §
2. aafeard it TeEifas @

3. Tfgen aftar # g @
4.  ARIEE I B1 [AHRT HIAT B

Options:

64535070803, 1
64535070304, 2
4835070805, 2
4535070306, 4

Question Number : 128 Question Id : 64635018030 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following has contributed to the standpoint theory?
.  Kate Millett
2. Carol Hanisch
3. Judith Butler

4. Sandra Harding

Options:



EAE35070807. 1
64535070808, 2
64535070805, 3
64535070810, 4

Question Number : 128 Question Id : 64635018030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

31 ¥ [ ‘WewEe Wt | anieH fasar 872
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3. YfeydEeer

4. IrSIEIfST

Options:
EAEZE070807. 1

EAE3507 0808, 2
E4E35070809. 3
EAE35070810. 4

Question Number : 129 Question 1d : 64635018031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“The social sciences are sexist, biased and rotten with patriarchal values.” Whose
opinion is this?

.  Lis Stanley and Sue Wise

b2

Cady Stanton and Lucretia Mott
3. Margrit Eichler

4. Sandra Harding

Options:

4535070511, 1
64535070812, 2
64535070812,
64535070814, 4

Question Number : 129 Question Id : 64635018031 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



g fag Sfeae, ueurd aur fugamrere 9ol 9 9% €1 U8 $yA g 7
1. o R a sik g arsy
2. HSIWed R g Hic
3.  #Arifie sa
4. HgremeT

Options:

46350703811, 1
64535070812, 2
64535070813 =
64535070814, 4

Question Number : 130 Question Id : 64635018032 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is NOT an ethical practice in research?
1. Using names of respondents in report
2. Rights of participants
3. Privacy and confidentiality of information

4. Informed consent

Options:

64835070815, 1
45350703816, 2
64535070817, o
64535070818, 4

Question Number : 130 Question Id : 64635018032 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070815, 1
E4E35070816. 2
E4E35070817. 2
64535070818, 4

Question Number : 131 Question Id : 64635018033 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is NOT a type of probability sampling?
1.  Stratified
2. Snowball

3.  Simple random

4.  Cluster
Options:
E4E350708149. 1
64535070820, 2
64535070821, 3
GAG3S070E22. 4

Question Number : 131 Question Id : 64635018033 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fFafifad & ¥ SH-91 uTegdl widea w8t 82
1. TiPd
2.  HEd
3. 9HN URf®S
4. R
Options:

E4E35070819. 1
6435070820, 2
64535070821, 3
E4E3507 0822, 4

Question Number : 132 Question Id : 64635018034 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is used only in quantitative research?

]+

2

3.

4.

Options:

Oral history
Case study
Interviews

Structured questionnaire

64535070823, 1
EAEZ507 0824, 2
EAE3507 0825, 3
BAE3507 0826, 4

Question Number : 132 Question Id : 64635018034 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fafafaa & ¥ feue SuahT Sad AETES MY H gidr 87

2.

3

4,

Options:

e gfoer
&Y AT
HIETPR
ERferd yracit

E4E35070823. 1
64535070824, 2
64535070825, 3
E4E3507082E. 4

Question Number : 133 Question Id : 64635018035 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which among the following in NOT a gender issue involved in HIV/AIDS?

]

4.

Options:

Women mostly get infected from their partners while the reverse is a rare
phenomenon

Infected women get lesser health care than men
The symptoms of infection are similar for men and women

Women face more stigma than men due to patriarchal perceptions

Yes



EAE35070827. 1
6435070828, 2
64535070825, 3
64535070830, 4

Question Number : 133 Question Id : 64635018035 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T, 313, dt /oy ¥ Paffa § & Si-a1 Sis gy it 98 22
s n%a%ﬁm:mﬁmaswwmaﬂ’r%wﬁsﬂmﬁ?ﬁmﬁmﬁaw
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2. Tepfid A Ywul BT 3rden HH Wy uiErdf adt 8

3. WU P &N UFY 3R Afgan # GHH 8 &

4. fOgudras =PSRRI Afgarsi & gEul B e e Hed &1 aEH
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Options:

64535070827, 1
64535070828, 2
E4E35070829. 2
E4E35070820. 4

Question Number : 134 Question Id : 64635018036 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List—1 List—I1

(a) Androcentricity (i)  Taking the whole family as a single
unit of study

(b) Overgeneralisation (i1) Male view of the world

(¢) Double standards (1i1) Making findings of one sex applicable
to both sexes

(d) Familism (iv) Identical behaviour of men and women
assessed using different yardsticks

Choose the correct option from those given below :

—_—

(a)=(i): (b)(ii); (c)—(iii); (d)—(iv)
(a)=(i1); (b)—(1): (c)—(iv): (d)(iii)

=

3. (a)(iv): (b)—(ii): (c)—(iii): (d)~1)
4. (a)y(in); (b)—(in); (c)=(iv); (d)=(1)

Options:

64535070831, 1
64535070832, 2
E4E35070822. 2
45350703524, 4

Question Number : 134 Question Id : 64635018036 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(d) uRaRarR (iv) goul 3R Afgarsi & teuH SaER
BT HAT-3F HFC S| H b Bl

feu e fasedi O & Wet IR &1 994 Diford

L. (@)(1): (b)id); (c)(iii): (d)iv)
2. (a)(i1); (b)~(i); (c)~(iv); (d)—(iii)
3. (a)(iv); (b)(ii); (e)(iii); (d)—(1)
4. (ay(ii): (b)—(iii); (c)—(iv): (d)—(i)

Options:
4235070531, 1

EAE3507 0832, 2
B4535070833. 3
64535070824, 4

Question Number : 135 Question 1d : 64635018037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List=II :

List—I List—II

(a) Sexuality and gender are fluid (i)  Radical feminism
and multiple categories

(b) Common humanity supersedes (ii) Liberal feminism
procreative categories

(c) Brought housewives into the (iii)) Post-modern feminism
structure of capitalism

(d) Theorizes the way patriarchy (iv) Marxist feminism
controls all women

Choose the correct option from those given below :
L. (a)(ii): (b)—(iv): (c)—(iii): (d)—(i)
2. (a)in); (b)iv); (e)~(1): (d)—(ii)
3. (a)y(iin); (b)—(i1): (c)—(iv); (d)—(1)
4. (a)(i): (b)(ii): (c)(iv): (d)(iii)

Options:

64535070335,
E4E3507023E,
4535070837,
4535070838,

o LIRS

Question Number : 135 Question Id : 64635018037 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(c) %ﬁﬁgﬂmaﬁmﬁm (iii) IW-3MYfFF TRiaK
qrdl

(d) ARG sIua @ foae mes  (iv)  ARiard) akiae
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feu e fasedi ©§ ¥ T8t ITR FT TG99 BT ;

1. (a)—(11); (b)—(1v); (c)—(ii1): (d)—(1)
2. (a)y(inn); (b)—(1v); (c)—(1); (d)—(11)
3. (a)y(i); (b)—~(11); (c)—(1v); (d)—(1)
4. (a)1); (b)—(11); (c)—(1v); (d)—(111)

Options:

64625070835, 1

64635070836 2

BAE35070837. 3
64535070838, 4

Question Number : 136 Question 1d : 64635018038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List-I List—II
(Feminism) (Focus)
(a) Ecofeminism (1) Same sex relations
(b) Black (11) Caste hierarchy
(c) Dalit (111)  Nature/culture divide
(d) Lesbianism (iv)  Ethnic differentiation

Choose the correct option from those given below :
L (a)-(1in); (b)(1v); (e)(11); (d)—(1)
2. (a)H(iv); (b)—(11); (c)—(1): (d)—(i1)
3. (@) (b)(ii); (c)—(iv): (d)—(iii)
4. (@(iv); (b)—(1); (e)(Gii); (d)—(ii)
Options:
64635070839. 1
54635070840. 2

64535070841, 3
E453507084Z. 4

Question Number : 136 Question Id : 64635018038 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (a)(iii); (b)—(iv): (c)—(ii); (d)—(1)
2. (a)(iv): (b)—(iii): (c)—(i): (d)—(ii)
3. (a)yHi): (b)—(i1); (c)—(iv); (d)(1i1)
4. (a)}(iv): (b)—(1): (c)(iii); (d)(ii)
Options:
64635070839
£4E835070340.

EAE35070841.
BAE3507 0842,

[ R

Question Number : 137 Question Id : 64635018039 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion (A) : Lesbianism fosters utmost independence from oppression of hetero-
normativity.

Reason (R) : Sexualities are matter of preference and not conditioned by the sexed

bodies.
Choose the correct option :
1.  Both (A) and (R) are correct, but (R) is not the correct explanation of (A)
2. Both (A) and (R) are incorrect
3. Both (A) and (R) are correct and (R) is the correct explanation of (A)

4.  Both (A) and (R) are incorrect, but (R) is the correct explanation of (A)

Options:



EAE3507 0843,
BAE3507 0844,
64535070845,
E453507 0546,

[ N N

Question Number : 137 Question Id : 64635018039 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4. (A) IR (R) 3 7eia € g (R), (A) Bt 9 rem

Options:

64535070543,
64535070544,
E4E35070345,
E4E3507024E,

[ N

Question Number : 138 Question Id : 64635018040 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Cyborg critiques traditional scientific framework with their reliance
on identities and fixed binaries.

Reason (R) : Reason and logic are always handmaidens of truth and are infallible.
Choose the correct option :
1.  Both(A)and (R) are wrong and (R) is not the correct explanation of (A)
2. Both(A) and (R) are correct and (R) is the correct explanation of (A)
3.  (A)is correct but (R) is wrong
4. Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

Options:
4535070847, 1



EAE3507 0848, 2
64535070845, 3
64535070850, 4

Question Number : 138 Question 1d : 64635018040 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4535070847, 1
64535070848, 2
64535070849, =
4835070850, 4

p—

e

Question Number : 139 Question Id : 64635018041 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) :  All religions are patriarchal.

Reason (R) : Deprives women from entering into place of worship and their right
to freedom of religion.

Choose the correct option :
1. Both (A) and (R) are correct but (R) is not the correct explanation of (A)
2. Both (A) and (R) are correct and (R) is the correct explanation of (A)
3.  Both (A) and (R) are incorrect

4.  Both (A) and (R) are incorrect, but (A) is not the correct explanation of (R)

Options:
64535070551, 1
645350703852, 2



EAE3507 0853, 3
E4535070854. 4

Question Number : 139 Question Id : 64635018041 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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3. (A)SR(R) Ml 7T &
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Options:

64635070351, 1
4835070852, 2
4535070852 2
64535070854, 4

Question Number : 140 Question Id : 64635018042 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) : Though women’s loan repayment rates are higher than men’s, women
still face more difficulties in obtaining credit.

Reason (R) : Women lack access to external funds due to their inability to provide
tangible security.

Choose the correct option :
1.  Both(A) and (R) are wrong and (R) is not the correct explanation of (A)
2. Both (A) and (R) are correct and (R) is the correct explanation of (A)
3. (A)1s correct but (R) are wrong

4.  Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

Options:

64535070855, 1
645350703856, 2
E4E35070857. 2
45350703858, 4

Question Number : 140 Question Id : 64635018042 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635070355, 1
E4E35070856. 2
645350703857, 5
64535070858, 4

Sub-Section Number: 2
Sub-Section 1d: 646350876
Question Shuffling Allowed : Yes

Question Id : 64635018043 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cesticn Label | Comprehiension

Read the following passage and answer the questions (Q. Nos. 141-145) given below. Select
the most appropriate option :

Changes are required at the personal or individual level and at the social and political level.
Patriarchy as a system continues because there are men and women, both who support it, just
as racism continues because it is endorsed by racists. So far, men have been the part of the
problem—they are now invited to be part of the solution. Men, especially those in positions
of power, must show personal commitment to gender equality, especially to ending violence
in general and violence against women in particular.

Sub questions



Question Number : 141 Question Id : 64635018044 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

According to the passage, what is the reason of sustenance of patriarchy?

. Support of men

-2

Support of women
3. Support of men and women

4,  None of the above

Options:

64535070859, 1
645350703860, 2
E4E35070861. 2
64535070362, 4

Question Number : 142 Question Id : 64635018045 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the passage, patriarchy refers to
1. socio-cultural system
2. natural system
3. political system

4. None of the above
Options:
64635070863. 1
64835070864, 2
64635070865, 3
64635070866, 4

Question Number : 143 Question Id : 64635018046 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to the passage, patriarchy as a system can change, if
.  men and women are responsible
2. state takes responsibility
3. religion takes responsibility

4,  None of the above

Options:

4635070367, 1
64535070868, 2
64535070869, =
64535070870, 4

Question Number : 144 Question 1d : 64635018047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What are the ways to combat violence against women as mentioned in the passage?

1.  Strengthening masculinity
2. Ensuring gender equality
3.  Training women to be submissive

4. All of the above

Options:
4535070571, 1

BAEZIS07087Z. 2
EAE35070873. 3
BAE35070874. 4

Question Number : 145 Question 1d : 64635018048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What specific strategy is mentioned by the author to ensure gender equality?
1.  To have a violence-free society
2. To have more economic prosperity
3.  To have more conflict in the family

4, All of the above

Options:
4535070875, 1



EAE3S07087E. 2
BAE35070877. 3
64535070878, 4

Question Id : 64635018043 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension
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Sub questions

Question Number : 141 Question 1d : 64635018044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535070859, 1
645350703860, 2
4835070861, 2
64535070362, 4

Question Number : 142 Question Id : 64635018045 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1.  grafore-gi AT
2. UIPHdP ATl
3. oHide saawl

4,  I9gF H Y Bl Tal
Options:

64535070863, 1
EAE3507 0864, 2
EAE3507 0865, 3
EAE3507 0866, 4

Question Number : 143 Question Id : 64635018046 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

DG & IR TP AT F w | fgediatadl § 9¢d1d 81 bl &, e
. go9 3R Afged Rrer &
2. WOR e’
3. yH o d
4.  Iudad H A HIE TR

Options:

4835070367, 1
E4E3E0708EE. 2
64535070869, o
4535070870, 4

Question Number : 144 Question Id : 64635018047 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070871, 1
E4E35070872. 2
E4E35070872. 2
4535070874, 4

Question Number : 145 Question Id : 64635018048 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

4GP = Al FHF AT H3 & forg fby faftiy orifa &1 Soeia favar 87

1. feor-moa gure &1 8
2. 3ifirep anfdfe wwfg
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Options:

4835070875, 1
E4E3E070E7E. 2
4535070877, o
4535070878, 4

Sub-Section Number: 3
Sub-Section Id: 646350877
Question Shuffling Allowed : Yes

Question Id : 64635018049 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label | Comprehension

Read the following passage and answer the question (Q. Nos. 146-150) given below. Select
the most appropriate option :

The guarding of women required that their sexuality be channelized into legitimate channels :
into legitimate motherhood within a tightly controlled structure of reproduction which
ensured caste purity (by mating only with prescribed partners) and patrilineal succession (by
restricting mating only with one man). The control of women was secured through a mixture
of coercion and consent coercion exercised through her husband, the king’s law and the
priest’s dictums, whereas she consented to be her own moral guard. Chastity was the most
prized virtue of all.

Sub questions

Question Number : 146 Question Id : 64635018050 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What is the most valued attribute according to the passage regarding women’s
sexuality?

1. Beauty
2. Chastity
3.  Health

4, All of the above

Options:
425070579, 1

E4E3507 0880, 2
EAE35070881. 3
EAE3507 0882, 4

Question Number : 147 Question Id : 64635018051 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

With reference to the passage, which is NOT a coercive force controlling women'’s
sexuality?

1.  State
2. Religion
3. Work

4, None of the above

Options:

4635070883, 1
64535070884, 2
64535070885, =
645350703386, 4

Question Number : 148 Question 1d : 64635018052 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to the passage, women's sexuality is controlled through
I.  Consent
2. Coercion
3. Consent and Coercion

4. None of the above

Options:

64535070887, 1
E4E35070888. 2
E4E35070829. 2
64535070890, 4

Question Number : 149 Question Id : 64635018053 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The passage states that motherhood is legitimized through
1.  Polygamy
2. Monogamy
3.  Polyandry

4,  None of the above

Options:

64535070591, 1
E4E35070892. 2
E4E35070892. 2
4535070894, 4

Question Number : 150 Question Id : 64635018054 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the passage, how is women’s sexuality channelized?
1. Motherhood
2. Sexual freedom
3.  Agency

4. All of the above

Options:
64535070395, 1



EAE3507 0836, 2
B4E35070837. 3
64535070838, 4

Question Id : 64635018049 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension
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Sub questions

Question Number : 146 Question Id : 64635018050 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E45350708739. 1
64535070880, 2
E4E35070881. 3
EAE3507 0882, 4
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Question Number : 147 Question Id : 64635018051 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAE3507 0883,
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64535070855,
64535070856,
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: 148 Question Id : 64635018052 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
ion Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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149 Question Id : 64635018053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
ion Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535070591, 1
E4E35070892. 2
E4E35070892. 2
4535070894, 4

Question Number : 150 Question Id : 64635018054 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070395, 1
64535070896, 2
4835070897, 2
4535070598, 4



